T 1
1. Rear e /1T
a) VTG diehlaaTer PleT 1oy 3nfor
UT EAT.
b) TlepIAT<aT &gT e fafase TehidT ATY HIGIT 3Tl X T
ARIATIT AT AT A,
ST 2

2 ]PQRS 3181 &&T T I(PQ) = 5.6 AHT , I(QR) =5 @Y, I(PS) = 4.3 4T,
I(RS) = 7 &Y, I(QS) = 6.2 T#T

3[WXYZ 3@ rer T, | (YZ) = 4 T, | (ZX) = 6 9#Y, | (WX) =453, | (ZW) =5
AT, | (YW) = 6.5 F&#Y

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8 qreT:1



4_DEFG 3r@T &1eT &7 I(DE) = 4.5 34, I(EF) = 6.5 ¥, [((DG) = 5.5 T,
|(DF) = 7.2 @&, I(EG) = 7.8 T4,

$77T 3
5. L1 LEFT 3ram srer 1, 1 (EL) = 4.5 9=, | (EF) = 5.5+, m L L = 60°,

m LE=100°, m LF=120°

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8 qreT:2



6.L1PQRS 3raT srer &1, 1 (QR) = 5 Fa, | (RS) = 6.2 A, | (SP) = 4 JAY,

mL R=62°mL S=75°

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8

reT:3



7.L.IMORE #&3, I(MO) = 5.8 94, I(OR) = 4.4 §HT, mL M = 58°,

mL O =105°, mLR =90°.

8. [] ABCD HY, I(AB) = 6.4 9, I(BC) = 4.8 &HT, mL A =70°, mL B = 50°,
mL C = 140°.

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8 qreT:4



1T 4
9. feeiear ASTHATIIAE RehI0T TIR .
AABC | (AB) = 5 8#Y, | (BC) = 5.5 8#Y, | (AC) = 6 9#Y

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8

reT:5



10. /\ DEF:m LD =35°, m LF = 100°, |(DF) = 4.8 ¥

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8

Yl1.6



THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8

leT:7



